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Instructions to the candidates

1.

WUE-TA A FA AT T & | A WAl H SW A E | G % 2 § 5 dF
d ot faseqd § |

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

YA-T3 & HA & 300 ¢ qon Truif@ g9a 3 w2 ® 1 afe 3= =& e
T [ WY 3T TWHM B | UYH & I 39 giemy # forg S aifen feme
9597 Y T 3Meed-UA § fewn ¥ 1 fF s wemm B e T8 I W HE
5w FE fHem | gt wre W R dHEd ¥ WSRE-TF # O9IER 8 99
SW FESET 2, TE B YA & fafy= 9 & 3= ¥ AeE €9 ° T Y § fae
S dY = 3= 34 W % Sl 3 M T 0 TOeT H 9 Ghalsheled ©l
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The total number of marks of the ques |

< 3 hours. All questions carry equal marks, unless specifically stated

stherwise. Answers should be written ‘1 the medium which you have chosen

in your Application Form. No marks will be awarded, 1t the answer 1s written

in any other medium. All the five questions must be answered. Questions

<hould be answered exactly in order ‘n which they appear in the question

paper. Answers to the various parts of the same question should be written

together compulsorily and no answers of other questions should be inserted

hetween them. Regular calculator 2lone can be used in the exam. not the

scientific one.

qem WA @ IUA e fEE 20 SEEEA A S| Yo @1 T Uek weEl o

qfeerdl <A B!

The first question will be of <hort answer type consisting of 20 compulsory

questions. Each one < to be answered In one or two lines.

F2E] Ten i @7 T z === HIeF i HL |

Wherever word limit has been given, it must be adhered to.

In case there 1s anyv error of printing or factual nature, then out of the Hind1

and English versions ot the question, the English version will be treated as

standard.
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1 frialzd e oY U909 9ed &1 391 W 2 dlgadl 9 €feT ¢ 20x3=60

Answer the following short answer type questions in one or ftiwo lines

each

(A)  TH. e & U SUEYIS FH Sl Tl IRY™ Rl SEd] Hiee |

Explain the definition of Sociology given by M. Ginsberg.

(B) T IR T & AR GO F Aua-awg # g ?

What i1s the subject matter of Sociology according to Reuter and

Hart ?

C)  ‘IFega’ '@l s Ao e

Explain the sources of ‘Hypothesis’

-~

D s w9 waE favead adey

k.xplain ¢hree main characteristics of questionnaire.

(E) ‘'Ao-9gYr 3adeeT’ ¥ 39 I 993d § 2

.l

What do you mean by ‘Quasi-Participant Observation 7

(F) ‘wmiss W&o’ & giyfead sifsa |

Define social stratification.

M1912012 19(1) P.T.O.
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¢ ‘ot an ® oAy e St |

Explain three main characteristics of ‘Social Class'.

(H) st & sar wfeE w1 A T 2
What is the meaning of ‘Non-violence’ according to Gandhiji 7
I ‘g % R W TiEr’ & FE SRt |
Explain the tiypes of ‘Family on the basis of number’.
J) ‘erem fam’ =1 SFEETOm T2 RIS |
1Explain the concept of ‘Anuloma Marriage'.
(K) R W A fEws w1 A FE ]

What is the classification of human sctions according to Pareto 7

L) sifw SeFfa’ H1 SEURT FE ETES

Explain the concept of Naterial Culture’.

(M) <I@ehie TREH & yﬂﬂzﬁ;mﬁmwﬁ%7

What are the main tyvpes of <ocial structure given by Talcott

Parsons ?

M1912012 19(1)
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(N)  EIUA. O9FEeR U8 AT 9EE @ ORI am ¥ 7

What is ‘caste’ according to D.N. Majumdar and T.N. Madan ?

(0) ‘foarg 9= Trer)’ 7 % )
What is ‘Affinal Kinship’ ?
(P)  =gufd faaw & 0 &rm § 2
What are the causes of Polyandry ?
(Q ‘¥H' & dF ¥HE 3 SEEu |
E}q:;lain the three main dysfunctions of ‘Religion’.
Ry "HMF 93’ & YRt @) fagwm #ifsn

Discuss the functions of ‘Bureaucracy’.

(S) ‘avelwtv’ & YRAE WA W A w9 gq©y |
Mention three impacts of ‘globalization’ on Indain socletw.
(T) . &0 9nid =7 § o< W@ & ? e #ifsw |

Is caste changing into class ? Discuss.

M1912012 19(1) P.T.O.



6

ot gEdE W URIEE wied qe SEd | % Tofes SqEYH % Hed W
' 60

fag=dl shiad |

Define social research and discuss the importance of social research

in India.

Discuss the importance ot ‘bservation as a data collection method. How

will vou determine ‘reliability’ in observation ?

Define marriage. Discuss the impact of recent social legislations on

Hindu Marriage.

M1912012 19(1)
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1

-

qie® 9574 & YHE RS k1 AT HiU 60

Explain the main factors of social change.

A1

(Or)

- r —

Tgw S5 < 5 GETIF = g F AR Rty |

k.xplain the social consequences of economic development.

Frefafes 1§ 3 frel SR 0 T AT 200 T 8 giera froforad fafee 0 4x15=60

Write short notes 1n about 200 words each on any four of the following :

(i)  WHEISR MY H I9hoddl w1 HES |
Importance of Hypothesis in Social Research.
(i) JTNIRLU 1 UG FHS TR Y9 |
Impact of Industrialization on Indian Society.
(iii) T=E AR e |

Culture and Personality.

M1912012 19(1) P.T.O.
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Gu) e wETSl H OHH T il

Role of Religion in Modern Societies.
(p)  THNEMEE d49] 99 |

Sociology and Occupation.
(vi) TR % TR |

Types of Interview.

M1912012 19(1)
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Instructions to the candidates :

], WYE-FHFAAGA I E | A YT & S G € | FH &F. 2 § 5 T*
¥ emafs fawea § |
This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to o have internal choices.

2 W—Wiaﬁmsod%amﬁuﬁﬁwsa‘%% | afg s=aur A8 S9ImE T
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The total number of marks of the question paper is 300 and the time allotted

1s 3 hours. A/l questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, 1f the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

scientific one.

3. WUH U oY WA ' 9eH 20 AR wes @ 1 v # IW uw sieen @

The first question will be of short answer type consisting of 20 compulsory

questions. Kach one is to be answered in one or fwo lines.
4. I V= G S O T IGw STEvd U &Y |
Wherever word limit has been given, it must be adhered to.

5. AT TFEl Y A fHEAl YER HT IR RO A demewF TER F AL A, @ WA B
fe=T au1 st TR F ¥ S T OR qEE A IET
In case there is any error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.

M1922012 19(2)



20x3=60

Answer the following short answer questions. Each answer should be

In one or two lines -

(A) IR EE’ ¥ oHY o WHIE ¥ 7

What do you understand by "Vanprastha Ashrama’ ?

(B)  WRAE ws # R qon ufteds @ i s # oadey
Mention three factors of continuity and change in Indian soclety.
(C) 9" &1 gfeqmm <Ifg
Give the definition of ‘Dharma’.
D) ST Tk g w b oy 2

Why is caste a closed class ?

(E) 1% foar s uffes g@r & | avlv «ifm |
Hindu marriage is a sacrament. Describe.

(F) 9RG A SAOWE 69N & dF srE #5 Gfay

Write three factors of tribal unrest in India.

M1922012 19(2) P.T.O.
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(G) Y& <A % 3eYd FdEd |

Write the aims of Bhoodan Movement.

(H) 9Rd # Fus T & fau &9 «E o9 98, d9few Th Siaq-3el

¢ 1 T2 FIST |

Agriculture for Agrarian Societies in India 1s not an occupation,

but it 1s a hife style. Describe.

(I) =9 AYATE F FH W TYE |

Impact of market economy on Agriculture.

(J)  ‘Eyraeq 9liymer’ w1 gt <ifeE |

Give definition of ‘Circulation of Elites’.

(K) foegm ¥ 9gdl ATHecdsl & SRy 6 fafed |
Write the causes of increasing suicides among farmers.
(L) T35 9@ & w&r & fafed
Write the tvpes of joint family.
(M) Toam & afeer stfafmam, 2000 @ 91 %9 wq@ fagivad sqEd |

Express some salient features of Right to Education Act, 2009.

M1922012 19(2)
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(N} ““U9n s Fad U9 8 Sfd-wel i 3™ & fau SweEE ¥ o1 Tead
w8 T 7
“Occupation and only occupation is responsible for the origin of Caste

system.” Who said 7

0y udr ded § e 9 ® TER

Kinds of Elites with Indian reference.
(P) U Tugaacde UER &l ¥9q1 odgd |

Elaborate the structure of a Patriarchal family.

Q) T3 afgfdare =1 & ?

What 1s Gotra Exogamy 7

(R) HHifseh TIfqeerar i qi9rsT |
Definition of Social Mobility.
(S) foaTe il A w1 % 2
What is Affinal Kinship ?
T = | (Fy iR fawa) +F fog 9 17 wika g1 o ?

In which year was the Child Labour (Prohibition and Regulation Act)
passed "

M1922012 19(2) P.T.O.



0

2. TEENYH H A F GHAD § 7 TH WL YUl K] YR = Sad] Tl

g 7 60

What do you mean by Grahasthashram ? Why is it said to be the basis of

all Ashramas ?

HAAT

(Or)
THFTAN 9Rd ¥ Sifd @l sfaer o1 fuiRor Fw@ifse |
Determine the role of caste in Contemporary India.

3. I | favrd €1 9Tl U SRS o GHISh -3 99rEl &1 9uiq e | 60

Describe the socio-economic impacts of liberalization in India in the last

two decades.
3H{2AdT
(Or)

I WA & YRAT T9S X USA diel 991 Y9 W@ § 2 wHen sife |

What have been the impacts of western culture on Indian society ?

Examine.

M1922012 19(2)
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4. YR dfeud & fFT wauE & s FIgEd Ssifd =1 fAuRe fean <

T 7 A Hitew ' 60

Under what provisions of Indian Constitution the Scheduled Tribe is

determined ? Discuss.

HAdT

(Or)
B i W o § 2 g s W T e e
What is Agrarian Social Structure ? Write a note on its changeability.

5. fefdfee 5 4§ f§ o0 W, 78% W o097 200 v §, 9iaw frogforat

%F@-Q . | - 1ox4=6{

Write short notes in about 200 words each on anj four of the following -

71 Yd H WaHd Wi % d gU e SHN-guR e |
I'wo Social Reform Movements in India before its independence.
(i) w7F A =@ H TEHA $1 Udeifasar |

Historicity of unity in diversity in India.

M1922012 19(2) P.T.O.



(i) 9d B Fedt IS |

Increasing urbanization in India.

(jv) Tours faamw sfufTam, 1954 |

Special Marriage Act, 1954.

() Gl FT ITheAdT |
Loneliness of Aged Persons.
i) fT&g fao® & wer |

Types of Hindu Marriage.

M1922012 19(2)



